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MEET 5 PYTHAGOREAN DIVISION MARCH 12, 1998 GRADE 9 SOLUTIONS

The answer to each question is in parenthesis at the beginning of each solution.
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4) (d or 8(4-m)) The area of the rectangle is 8 x 4 = 32. The area of the 2 circles is
2(4m) = 8T . The area of the shaded region is 32-8m = 8(4-m).

5)  (6) l=—§—=%=18.x=36;x=6.
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B (3 8, 484) "I canbe 1, 4 or 9, "am' cin be 36 or 81 since 6 = 32 and 8 + 1 = 32,

"Nan" can be 121 or 484 since 14241 = 22 , 4+8+4 = 4% . (121 & 484 are the only 2
perfect squares from the list where the hundred's digit is the same as the unit's
digit.) "a" ia "wi" cvan be 3 or B, "a" in "Nan" can be 2 or 8. Thus, "a" 1s 8.

"am" is 81, "Nan" is 484 and "I" is 9.



